—

0101/215 0304/215
103215 0305215
0105215 0301215
0106/215 0402215
202:215 Dd04/215
0301215 HNS21S
0302215

SUPPORT SUBJECTS
Oct.MNaov. 2021

Time: 3 hours

GENERAL FITTER

THE KENYA NATIONAL EXAMINATIONS COUNCIL

ARTISAN CERTIFICATE

VIASONRY

MOTOR VEHICLE MECHANICS PLUMBING

AGRICULTURAL MECHANICS
WELDING AND FABRICATION
ELECTRICAL INSTALLATION
CARPENTRY AND JOINERY

PAINTING AND DECORATING

GARMENT MAKING

FOOD AND BEVERAGE
PRODUCTION AND SERVICE
LEATHER WORK TECHNOL(M:Y
GENERAL AGRICULTURE

sUPPORT SUBJIEETS

3 hours

INSTRUCTIONS TO CANDIDATES

Yo should have the following for this excomination -
Anmswer boollet;

Merehermatioal tatifex
fJ‘.I":i!Halrrg RS,

Thts paper comsists of THREE sections; A: B und €.

Answer ALL the questions in part I of each section, any TWO questions i part If of sections A and B,
and any FIVE quesgions in part I of section €.

Candidates should answer the guestions in English .

This paper consists of 8 printed pages.

Candidates should check the question paper to ascertain that all the
pages are printed as indicated and that no questions are missing.

i 22T The . Kenvo Nafonal Examinosions Cammcil! Turn nver




SECTION A: MATHEMATICS

Answer ALL the questions i this part.

PART 1 (24 marks)

¥ Sl -._ o A} ! iy 'I
. Evalaate e _{?—-H:E}— - ”.—-_.r-:'-']{ el (3 marks)
P
= : L0622 :
2 Elsing mathematical tables, evaluate "'—“-_-34%_'!' = {3 marks)
e Three business men Alex, Ben and Joel contributed a fotal amount of Ksh 120,000 to start a

husiness. [he rato of the copiribetions of Adex and Ben was -1 and that of Bén 1o Joel wis

25 Determine the amount that Joel contributed.

o Figure 1 shows a plate.

Draw the shape of the plate when folded showing the hidden edges with broken lincs.

. A farmer deposited Ksh

Fig.1

e (i —

4. Without using mathematieal tables, evaluate -‘.{;]:-j}fq—:;i :

Calcplite the amount after 2 years.
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{3 marks)

{3 marks})

{3 marks)

45,06 in n bank which paid a simple interest of 12% per annur

(3 marks)




7 Solve for ©m the cquation:
o i 1
'{:j-:}l'" —— (3 marks)
8 Given that sinff = _ijT without psme mathematical tables. determine;
(3} cos#s {2 marks)
(b}  tan 7. (¥ mark})
PART II (16 marks)
Answer any THWO guestions from this pard.

o Pauline depossted Kah 1,500 in a savings account at the beginning of the year. Compound
intercst on the monecy 15 calenlated at the rate of 15% per anmem. Al the beginning of each
subsequent year, she deposited Ksh 1,500 m the same account. Calealate the amountin the
account at the end of the fifth vear. (% marks)

1. Ihe weights in ke of children visitng a clipic on a certn day were recorded as follows:

o e e S R S s 1 SRR | LU e 1 N
1L i [ R G T [ S S 1) W 1[I
i Sy e o FRR: L {1 e 5t TN RS . s [
g (AR [ EN e O 7. S vy Wi I 11
() Calculate the range: {1 mark)
(b} Using i class width 'of 3, represent the data i a frequency distnbution table
(4 marks)
(c) Caleulate the mean weizght of the children, (2 marks)
{d}  State the modal class. {1 marks}
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SECTION B: SCIENCE 15

FARTT (24 marks) 4 5 [k e lgr TEeAn
Efle "j i .-'j:ﬁrctt'.m :

Aviswer ALE questions in thix part: e
z = do qivp lidve A Teef

4
r s Lt 1B
12t (w0 State two forms of encrgy, 1€ e owsd 3% 13 marks)
'-i_'_, e i
faf  State the SIunit of wark. i1 mark)
"y = - b : J‘r& fl_ |
Fe state three properties of images formed by plane mirrors. o {1 mark})
it
- 4. i) Drefine echo, ft.;-’- bl (1 mark)
I!.l!.,n s
®)  Aperson standing 495 m from the foot of a tall cliff claps the hu.nc‘l):c and hears an echo
(13 seconds Jater, Calenlate the speed of sound in air. 13 marks)
15, State three disadvantages of friction. (3 marks)
16, Outline three fuctors that atlect thenmal conduciivity. ; {3 marks)
KT (a) Differentiate between magnetic and non-magnetic materials. 12 marks)
(b} Figure 3 shuws two bar magnets close to/edch other,
5 N " N
et B L4128 P 9P T T : Easity
- (0 Ibﬂj-l ; .Ig'“;'t'fl e m}w_.;{
s Tl L I"'t"*lp ; y
s ko e el K Fi a. 3
Copy the figure and draw the magmetic ficld pattern for the set . {2 marks)
L8, State two forces thal act on an ohject as it moves downwards ina liguid, {2 marks)
15, Distoguish between scalar quantity and veetor quantity: (2 marks)
. i‘Fl' i
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e
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PARTI1 (16 marks)

Answer any TWO guestions from this part

20, Fipure 4 shows the extraction of iron m blast fumace.
Sabid raw
,/' materials
Helt aar —:-; é—l'i-:-luir
N —i—
A M
Fig.&
{a)  State three solid mw materials that arefed into the blast fumace, {3 marks)
{hf  Name the substances labelled M and N (2 marks)
ic) Explain the role of hot air in the process of extraction, (1 mark)
id) State twe waste gases that come out of the hiast fumace. {2 marks)
21 () Define density and state its ST unit (2 marks)
(b} State the principle of transmission of pressure in ligaids. (1 mark)
(¢} Themassof an emply density bottle is 20 g. lts mass when filled with wateras 45 g
and 360 g when filled with mercury. Caleulate the density of mercury given that the
density of water is 1 glem’, (5anarks)
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22, i)
{b)

e Anhehil 2at-by

State two factors that affect the moment of 8 [ored, (2 marks)

Figure 5 shows a uniform bar balanced by four forces: Calenlate distance *d™
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SECTION C: GENERAL STUDIES
PART I (20 marks)

Both questions in this perd are COMPULSORY

*areti Tenders intends to designa form to be filled by the wisitors of the orpanization.

State six types of information that sheunld be meluded i the torm. (1 marks)
List four types of reports that can be wriilen i an organization. i marks)
Last three ems ol the top favout of a formal letoer i3 marks)

State twi Teceiver-related factors that determine the chotee of 3 commumication
e, {2 murks)

State three measures that may be taken W conteol popolation growth imoa conntry,

{3 marks)
Fast twan pillars qri' the MNyayo pinlosophy. of Kenya, {2 marks)
0301215 (02215 7 Tarn Owver

(3027215 (04215
13047215 05215
0305215
4017215




Gl o ZEET

I‘?
L bl
(b
o
r,:‘iﬁ)l {a)
(b
@ {a)
(b}
8. (a)
(h)
29 i)
(b
i
:gq.’ (:1)
()
31, {a)
{h)
b}
01215
0103215
0105215
215
(0202/215

PART Il (20 mnarks)
Answer any FIVE questions from this pare.
State two limitations of biogas as a source of cnergy.
State two advantages of firewood as a soarce of energy
State twa roles of the local povernment 11 Kenya.
Statc two funciions of the Judiciary in Kenva,
State #wo advantages of television 45 2 means of advertisement.

List two entries centained in the stock book of an organmization,

List two types of variable costs ineurred i a business enterprise.
State two contents of an employment contract.

Lizt two clubs that a college stadent may join.

State bwo benefits of using leisure time properly,

State two reasons that make human beings to work:

List twao roles played by the Wational Assembly in Kenya,

State two measures that can be taken to reduee deforcstation in Kenva

{2 marks)
2 marks)
(2. marks)
{2 maurks)

(2 marks)

{2 marky)
{2 marks)
{2 marks)
(2 mirks )
(2 marks)
{2 marks)
{2 marks)

(2 marks)

Statc two ways in-which technological development can helpto control pollution.

List two advantages of 3 mMonogamous marriape.

State fwo responsibilities of a mother to her chifdren.
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